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OHI132] THoIE SMAIEIS Rt oS
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OX0Dts d=Lts 23HdA
8,800,000 8,800
020248 344 Lis &2 323
9,000,000& 9,000
OZ N BH o dSdslH 54
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34,784,000 34,784
23tA X HS2SXH(EX) 32,020 32,020 0
= 9,606
Al 22,414
201 er2&y| 32,020 32,020 0
=S 9,606
Al 22,414
03 A= 32,020 32,020 0
O=30t A= & XE M
32,020,000 *13] 32,020
< 9,606
Al 22,414
ANz 233 2483t M (EX) 20,000 0 20,000
= 6,000
Al 14,000
307 el2to| & 20,000 0 20,000
= 6,000
Al 14,000
02 QB AANEE R 20,000 0 20,000
OZN=32 243 MY
20,000,000 20,000
[ 6,000
Al 14,000




S DB
g 2oz M f 2R =4
thelr 2tolsdE (St &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
MERSHE S35 XA (EX) 73,723 120,078 N46,355
= 25,803
Al 47,920
307 el2to| & 73,723 120,078 N46,355
= 25,803
Al 47,920
02 QIZtEHAEE X 73,723 120,078 N46,355
OLEZ30zs =52 243 MY
73,723,000 73,723
== 25,803
Al 47,920
SEESHS2E 0I8A(EX) 1,196,390 1,075,800 120,590
Il 844,547
== 112,587
Al 239,256
307 212+01& 1,196,390 1,075,800 120,590
7l 844,547
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OXBH AU SEEEl Wi
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OZ0He 2IZE SR2tel
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osSg2d A28 ¢ JItt
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O3 dFA=0F 72
3,200,000& 3,200
O=RUdd ME + 3,000,000& 3,000
O&J| - JIA - S 4225 2
3,000,000& 3,000
OD2E BT 9 MI|ZY BT
3,000,000& 3,000
O3 Ol & B 2
50&+30,000& 1,500
032y 2184 MM S 7
3,000,000& 3,000
301 LeEN= 100,000 100,000
11 SEAAHIXIRES 100,000 100,000
O=st=32 3 23k 243
100,000,000 100,000
401 AIEHIZ R HYI 91,475 30,000 61,475
01 A<l 91,475 30,000 61,475
O=2lsal2 sd & 2= 2=+ SAt 29,525
OSY U AS KR MelE B
14,785,000& 14,785
olld =& g+=&Y 7,590,000 7,590
o3del EHl ALEZ 7,150,000& 7,150
O23t0=3l2 HB3HE RUHEX 2+ 61,950
ORUEX =2 9,600,000 *5H 48,000
OCtOIEHE 2A0IHZE WA
6,800,000 6,800
OoAoIEdAZ Wil 650,000& * 117K 7,150
405 KHAHF SH 3,200 15,000 11,800
01 TRHESF SHI 3,200 15,000 211,800
O=23t0=al2t degd| 2
3,200,000 *1CH 3,200
ANESEE 22 299,660 284,440 15,220
201 L= 6,640 3,640 3,000
01 AF2-2t2ltl 6,640 3,640 3,000
O Et=EH| 1,800
OAEEEE Ot =28
200,000 *3CH*12] 600
ONBBHE Bel o Al
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OAEEg&H 24 3,000
OAEHEEE AR 29
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SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
O3+ 1,840
ONBEEE S o FIBI AMEY
200,000 *5F *13] 1,000
OARIBEC 2a9Rs| aasa
70,0003 x6H *23| 840
301 LPENS 285,020 277,800 7,220
2= - 2SRSEA3 285,020 277,800 7,220
OASEEt HRAS A 216,000
OXIZ Xt 1,200,000& * 1@ =123 14,400
OBH==Xt 1,000,000&*1Z*12& 12,000
oH=RE 800,000 x 18 = 12& 9,600
oAt 450,000 x4H« 123 21,600
OtH# 400,000 «x33Y 122 158,400
O3243 30,000,000& 30,000
OAEE Jtedl 3,200,000& 3,200
OAsS=SA| 8,0002 40 213 6,720
OFI|HF3 10,000,000 10,000
OHEZXY L &2 AlEHEgEH HellE3 3
] 600,000& 600
O=E=4| 100,000& %103 1,000
ORHRATAI Al(P)Y BEE DE 2
10,000,000 10,000
OANS & ARER = JIE
7,500,000& 7,500
405 Xt S| 8,000 3,000 5,000
01 XML =EF S| 8,000 3,000 5,000
OAZBIETH 30 248 px7])| 2
8,000,000& 8,000
R4 BE Y AL =4 5,885,210 4,522,229 1,362,981
= 1,863,330
| 184,560
T 1,607,163
Al 2,230,157
ZoARMEE 5,885,210 4,522,229 1,362,981
= 1,863,330
| 184,560
= 1,607,163
Al 2,230,157
ItREtE A 2e| 271,670 929,812 AB58, 142
101 21| 29,618 28,160 1,458
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OAlEEH|=XH 5,000,000& 5,000
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O=ItR4 FHIYYIE MM 2L
1,000,000 1,000
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12,000,000 12,000
ONS 23 MEAME 7,290,000 7,290
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ORSAE SYAIAE SXE2(7HA)
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== 16,700
Al 15,700
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Al 106,000
402 QI2F X201 & 424,000 502,000 A78,000
= 212,000
== 106,000
Al 106,000
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O=FAt &2 JHFSAL
144,000,000 144,000
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s 36,000
Al 36,000
OZ A B ZHISA 200,000,000 200,000
= 100,000
=S 50,000
Al 50,000
OstdY A= ZHISA 80,000,000 80,000
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OZ Lo Hea= 80,000,000 80,000
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5,000,000& 5,000
= 2,500
Al 2,500
OLoHAL BLIS A A2t 5,000,000 5,000
=S 2,500
Al 2,500
O824 =01 35,000,000 35,000
= 17,500
Al 17,500
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24,000,000 24,000
= 12,000
Al 12,000
OEZEA =101 24,000,000 24,000
[ 12,000
Al 12,000
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Al 24,000
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Al 66,240
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16,800,000& 16,800
= 6,720
Al 10,080
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& 6,360
Al 9,540
301 LPENZ 15,900 0 15,900
& 6,360
Al 9,540
14 JIEt2 43 15,900 0 15,900
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15,900,000& 15,900
= 6,360
Al 9,540
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Al 19,110
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Al 19,110
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101 @124t 201,120 154,812 46,308
| 100,560
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&2l SIRAMEE (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
< 30,168
Al 70,392
M ORIMZZ2NSE S 201,120 154,812 46,308
O=It=4 A FH|E 201,120,000 201,120
Jl 100,560
< 30,168
Al 70,392
2OtR4 M FHIR IR & 28 14,000 36,800 122,800
101 @124H| 12,000 36,800 24,800
M ORNZZE2NSE S 12,000 36,800 A\24,800
O=It=4 Ot ZH|E 2l12H|
12,000,000 12,000
201 fet= 3| 2,000 2,000
01 AtR2tc|HI 2,000 2,000
O=Jtrd HNBHIE BIS S
2,000,000& 2,000
Ml &ALl KR (E=x) 30,000 30,000 0
= 9,000
Al 21,000
307 elztol & 30,000 30,000 0
= 9,000
Al 21,000
02 2B YAIHE £ 30,000 30,000 0
OXNl & A SH X 30,000,000& 30,000
= 9,000
Al 21,000
SRUEE(EX) 29,000 111,975 A\82,975
[ 13,000
Al 16,000
101 @124H| 20,000 21,975 A1,975
= 10,000
Al 10,000
MU ORINZENSES 20,000 21,975 1,975
03230484 SEREY 29
20,000,000 20,000
= 10,000
Al 10,000
307 @I2t01 & 9,000 8,000 1,000
[ 3,000
Al 6,000
02 IHB A HE L 9,000 8,000 1,000
OAtEEiE2 23t 9,000,000& 9,000
= 3,000
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Al 64,050
307 lztol & 162,500 112,500 40,000
= 61,000
== 27,450
Al 64,050
02 LB HANHEE 152,500 112,500 40,000
OLESIHE 2SM 152,500,000 152,500
= 61,000
=S 27,450
Al 64,050
28R4 OFHAIY (EX) 220,000 220,000 0
= 88,000
=S 39,600
Al 92,400
201 fer=3| 220,000 220,000 0
= 88,000
= 39,600
Al 92,400
03 A= I 220,000 220,000 0
OZ N Zat=4 OFH 220,000,000 220,000
= 88,000
= 39,600
Al 92,400
2VtFA THHEXAIE RH(EX) 70,000 0 70,000
Jl 49,000
T 6,300
Al 14,700
401 AlEHIZ 2018 70,000 0 70,000
Jl 49,000
< 6,300
Al 14,700
01 Al&H| 70,000 0 70,000
OZ MO HEAIE HA
50,000,000& 50,000
Jl 35,000
< 4,500
Al 10,500
OZHILHOF AZAIE JHA
20,000,000& 20,000
) 14,000
< 1,800
Al 4,200
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Chel: SARLUEE (St &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
01 Al&HI 15,500 16,500
O2EE AIAE 28 15,500,000 16,500
= 10,850
< 1,39
Al 3,255
& =a FEXS el XA XA 40,000 40,000
201 er23 | 40,000 40,000
01 At2teltl 40,000 40,000
O eS| 40,000
OlHE =& REXS NP SXZAL X
A 40,000,000 40,000
&2t FEXNS 2 NTotAtY 315,000 315,000
= 220,500
= 47,250
Al 47,250
207 ARl 315,000 315,000
= 220,500
= 47,250
Al 47,250
01 1= 315,000 315,000
OEEM REXNS 2 1T5 MY
315,000,000 315,000
= 220,500
= 47,250
Al 47,250
NAHSWE2H=H 13,000 13,000
308 AtAIEMSOIE 13,000 13,000
07 MRS E = 13,000 13,000
OMASLE=t=M RS2 RS2
13,000,000 13,000
HSEEIIE AES ALY 7,500 7,500
308 XXM SOIA 7,500 7,500
07 AX L= 7,500 7,500
OESSERNRE AFs=AY
7,500,000& 7,500
S22 HHSXAE FAl2 10,000 10,000
= 3,000
Al 7,000
201 fer= 3| 10,000 10,000
== 3,000
Al 7,000
01 At22t2l] 10,000 10,000
O=Z=23H HHEXAIE |22
10,000,000 10,000
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M 2HRM BE U SHI(BAL X4
&2l SIRAMEE (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
< 3,000
Al 7,000
HH2LZH(N=E230) 184,352 162,873 21,479
Il 34,296
= 10,289
Al 139,767
Jl2dtl(ns2s) 35,460 24,000 11,460
Jl2Zdtl(ns235t) 35,460 24,000 11,460
202 048l 30,000 20,400 9,600
01 2L AL 30,000 20,400 9,600
OSE=EZ 0| 100,000 x25E * 12& 30,000
203 =] 5,460 3,600 1,860
M FA2HARFAI 5,460 3,600 1,860
Ous=31 455,000 <123 5,460
QI 2HH(RE23tt) 148,892 138,873 10,019
Jl 34,296
== 10,289
Al 104,307
2Jte4 O AHIA HHXl 2 2 (EX) 68,592 96,068 N2T,476
Jl 34,296
=S 10,289
Al 24,007
101 21AH| 68,592 96,068 N2T7,476
Jl 34,296
= 10,289
Al 24,007
03 SRA(RIH )22 U2+ 68,592 96,068 N2T7 476
O=It=4 A 24
68,592,000& 68,592
Il 34,296
= 10,289
Al 24,007
ZJte4 MR UK 2 EE 80,300 42,805 37,495
101 21AH| 63,000 30,000 33,000
03 SR (RIH )22 U2+ 63,000 30,000 33,000
OS2A =¢ 63,000,000 63,000
204 APt AH 1,800 1,800
02 SLR3H 1,800 1,800
Ol &S| 1,800,000 1,800
04 HASRE2SS 15,500 12,805 2,69
04 SR (RIHA)22N BE=RES S 15,500 12,805 2,695
O=73 1= 2 MHNlES8= 15,500
O8FA HU=*FdEs 5,000,000& 5,000
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